740
’ﬁy / PESTICIDE ALTERNATIVES QUESTIONNAIRE

FERRIS, H. County/Campus: Yolo/Davis
DicHLororrorPENE

| o N
Crop: (\(Xou«\ : FS Target Pesticide (TP): = dﬁ(&b@{\mgo_,«o

What is the standard method of application for this pesticide? \)}b \f\)d 'JL R,
What is the frequency of application? TN %—I\\{(KO»V

Name of Respondent:

" Section I. Chemical Alternatives Not in the Catalogue to the Replace the Loss of the Above Pesticide

Identify your first choice as an alternative pesticide: @_ﬁ“ (\4(;‘{' (A\-\(y ( (ég\\\,\, \?(‘AD_

What is the expected crop yield with this pesticide compared to the target pesticide (TP) 7 (Circle number)
VERYLOW = 1 2 3 4 5 6 7 8 9 @\ = ASHIGH ASTP

What is the expected crop qualzly with this pesticide compared to the target pesticide (IP) ?
VERYLOW =1 2 4 5 6 7 8 9 0) = ASHIGHAS Tl’

What is the standard method of application for this pesticide?

JRINATE Vi - - Al { @J\k ‘i% /\Q\*\
A N
What is the frequency of application? (S,J\ e M}Q@ . 5 F
Describe deficiencies or problems with this alternative: T-d&) QX}T\Q (- %x\l\L (\C\/"’ %7\(g5

G arde Al %’%WZL

FENH pPHOS Q@
Identify your second choice as an alternahve pesticide: "‘:ﬁ“ : \ \\ RRAN S U&\(

What is the expected crop yield with this pestmde compared to the target pesticide (TP) ?
VERYLOW =1 2 3 4 5 6 7 8 (9) 10 = ASHIGHASTP

What is the expected crop quality with this pesticide compared to the target pegticide (TP) ?
VERY LOW = 1 2 3 4 5 6 7 8 (9) 10 = ASHIGHAS TP

[ - «
What is the standard method of application for this pesticide? n \)\ w \\ ¢ LN\ { AN (% (L&N\ N

roeernt] 2l
What is the frequency of application? OyA b\~ Oyt 1290 N

Describe deficiencies or problem with this alternahve j\jshwf(. - ‘IL A Lxd s 4 bd\:\’{ (AU
<\ (7 \
\uﬂm AN (T i M\JMML |

Section II. Non-Chemical Alternatives to the Replace the Loss of the Target Pesticide

Identify your first choice for a non-chemical alternative or alternative program for replacing this pesticide:

ﬂ}}ﬁ ) Y;\w *}L\ PR\ 'A\« ENENY N‘%\ M //L,_\'

{ow would you describe this alternative ? (Circle number of answer.)
1 BIOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, etc.)
2 PHYSICAL (such as flaming, mechanical incorporation, cultivation, flooding, canopy mgt.ctc.)
3 MANAGEMENT (such as time or location of planting, cultivar, not to plant the crop, rotation, etc.)
4 REGULATORY (such as mandatory host-free periods, crop termination, sced indexing, etc.)
5 A COMBINATION OF SEVERAL OF THE ABOVE



What is the expected crop yield with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4 5 . 6 7 Q{, 9 10 = ASHIGHASTP

What is the expected crop quality  with this alternative compared to the targetpesticide (TP) ?
VERYLOW = 1 2 3 4 5 6 7 ﬁ 10 = ASHIGHASTP

Estimate the cost of this alf¢rnatjve on a per acre basis, gr, iden{ify the kind of goeIs that need to be estimated
to determine cost: AN L @ C.L\L. vlé\\N\Q!\ Yoa nl ,

Describe difficulties or constraints to the use of this allcmahvc or altcrnatlv qulcmvﬂ at you feel need t() be
studied or researched to provide an effective alternative:

Mo $TN con il /&QWMM% s .

N { evetioans [ hont— Nomse

Identify your second choice for an altcmahvc or alternative program for replacing this pcshcxdc

XZ \&\A\G\««\(’{J - (‘J\U\‘LNA ;

G-Jow would you descnbe th:s alternative ? (Circle number of answer.)

1) BIOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, ctc.)

2 PHYSICAL (such as flaming, mechanical incorporation, cultivation, flooding, canopy magt., ctc.)
3 MANAGEMENT  (such as time or location of planting, cultivar, not to plant the crop, rotation, etc.)

4 REGULATORY (such as mandatory host-free periods, crop termination, seed indexing, ctc.)

5 A COMBINATION OF SEVERAL OF THE ABOVE

What is the expected crop yield with this alternative compared to the target pesticide (TP) ?
VERYLOW =1 2 3 4 5 6 8 9 10 = ASHIGHASTP

What is the expected crop quality with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4 5 6 7 8 @ﬁ 10 = ASHIGHASTP

Estimate the cost of this altern

ative 9 per acre bais or, identify the kind of %zsls that need to be estimated
to determine cost: (Qg& S ANN

ll\/\(\kd\d&k/\ Ll

Is alternative proposed available now? (Nro (Circle answer)

Describe difficulties or constraints to the use of this alternative or alternative system that you feel need to be
overcome to provide an effective alternative:

Nad (KT Sanl MMM,\J

Section III Research Development and Implementation Activities

Describe what research, developmént or implementation activities you have underway that might provide an
alternative to the pest problem and indicate the time frame that you would predict the alternative might be
available as a practical treatment or control program: (Use additional shect if necded)




b
jl/ 4 PESTICIDE ALTERNATIVES QUESTIONNAIRE

Crop: A/ /,% U’A FS Target Pesticide (TP): -l—;—?—%‘)

Shﬁzk,

What is the standard method of application for this pesticide? f%‘ L T /[’C /44 9~
p% CAop . '

What is the frequency of application? 0 » (£ }99—#574—%*2’ /7

MJZ’”D»\L(, Vmrcels ‘ﬂ/ + ot MM%W &—ﬂé/ {
Section I. Chemical Altemahves Not in the Catalogue to the eplace the Loss%)f the Above eshcn

wﬁMW!\wAM rorwn & Be Leononne @ alfotfo un CA
dentify your first choice as an alternative pesticide: [ 77 /Vﬂ ng

What is the expected crop yield with this pesticide compared tgthe target pesticide (TP) ?  (Circle number)

VERYLOW =1 2 3 4 5 6 8 ‘9 10 = ASHIGH ASTP
What is the expected crop quality with this pesticide compared fq the target pesticide (TP) ?
VERYLOW =1 2 3 4 5 6 8 9 10 = ASHIGHASTP

What is the standard method of application for this pesticide? Si" i) /& ; r\(/)/C” 4 /4” P9 O o/

What is the frequency of application? Dnct e ¢ Wﬂ

Describe deficiencies or problems with this alternative: /4/ che J’# Pig ' 0‘*{//}1/
17//.&(/ &BIML'&’/’UM watlerd [ P

Identify your second choice as an alternative pesticide: ¢ L‘ / /) //0/.4 17 7 77

What is the expected crop yield with this pesticide compared to the target pesticide (TP) ? .
VERYLOW = 1 2 3 4 (50 6 7 8 9 10 = ASHIGHASTP

What is the expected crop quahty with thls pe c1de compared to the target pesticide (TP) ?
VERYLOW =1 2 8 9 10 = ASHIGHASTP

What is the standard method of application for this pesticide? { / K ) % a ’)d;/( 4 Aﬂ o

What is the frequency of application? O W/r cLv e

Describe deficiencies or problems with this alternative: /0 [ / p"é c ﬁ et gy
}7 Spectrumn %
4 6 A P PN rs" a [

Section II. Non-Chemical Alternatives to the Replace the Loss of the Target Pesticide

Identify your first choice for a non-chemical alternative or alternative program for replacing this pesticide:

V(s 17t ooty €~ Cltdnrans

w would you describe this alternative ? (Circle number of answer.)
IOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, elc )
2 PHYSICAL (such as flaming, mechanical incorporation, cultivation, flooding, canopy mgt.ctc.)
3 MANAGEMENT  (such as time or location of planting, cultivar, not to plant the crop, rotation, etc.)
4 REGULATORY (such as mandatory host-free periods, crop termination, sccd indexing, ctc.)
5 A COMBINATION OF SEVERAL OF THE ABOVE




What is the expected crop yield with this alternative compared to the largct pesticide (TP) ?
VERYLOW = 1 2 3 4° 5 . 6 7 (8 9 10 = ASHIGHASTP

/"

What is the expected crop quality with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4 5 6 7 F8 9 10 = ASHIGHASTP

Estimate the cost of this altc nahve na per agre b}sls or, identify the kind of costs that n cd to be eshmaz;i
. to determine cost: [A2/% KL / u/(/ﬂ - ’J, v, 4’
Costs Aesend o o3 3 'I‘er Cwe,\twm}mu-(g’(:‘%% 4:£ \_I
sefneed to be

Describe difficultics or constraints to the use of this allcmahvc or alternative system that yo
studied or researched to provide an effective alternative:

Identify your second choice for an alternative or alternative program for replacing this pesticide: ﬁé ol

How would you descnbe thls alternative ? (Circle number of answer.)

1 BIOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, etc.)

2_PHYSICAL (such as flaming, mechanical incorporation, cultivation, flooding, canopy magt., ctc.)
AGEMENT  (such as time or location of planting, cultivar, not to plant the crop, rotation, etc.)

4 REGULATORY  (such as mandatory host-free periods, crop termination, sced indexing, ctc.)

5 A COMBINATION OF SEVERAL OF THE ABOVE

What is the expected crop yield with this alternative compared to the target ;h)csticide TPy ?

VERYLOW = 1 2 3 4 5 6 7 8 9 10 = ASHIGHASTP
What is the expected crop quality with this alternative compared to the target pesticide (TP) ?

VERYLOW = 1 2 3 4 @ 6 7 8 9 10 = ASHIGHASTP
Estimate the cost of this altcrnatlve ona acre 1dent|fy the kind of costs that need to be estimated
to determine cost: _LO/4— a[(fé il

Is alternative proposed avaﬂable now? @ No (Circle answer)

Describe difficulties or constraints to the use of this altemarzl/e orfa’lznallve system that you feel need tp be
overcome to provide an effective alternative: )£ n, st o d  perd

_éac’@k/m V(rl

Section III. Research Development and Implementation Activities

Describe what research, development or implémentation activities you have underway that might provide an
alternative to the pest problem and indicate the time frame that you would predict the alternative might be
available as a practical treatment or control program: (Use additional shect if nceded)

' '**47////"5. @n')ZI/f/,//am(,( /’ﬁ/l o tal W;//67/
wa s e T g e
Seedd C«J""PMLM "‘”")Z*"W o Moo A2zevtamt anetian




\\ PESTICIDE ALTERNATIVES QUESTIONNAIRE
CASWELL, E. P. Yolo/Davis
& Name of Respondent: ' County/Campus: . Al
N Dl leto” T

Crop:. p(l/{ﬁ Lﬁﬁ l’/S Target Pesticide (TP): __ %D

What is the standard method of applic:;\tion for this pesticiﬁe? JFUN” &r/\‘\)’r

What is the frequency of application? P(Q/QV\V\

Section I. Chemical Alternatives Not in the Catalogue to the Replace the Loss of the Above Pesticide

Identify your first choice as an alternative pesticide: A ’@g( raw“‘l’ fromi o

What is the expected crop yield with this pesticide compared to the target pesticide (TP) ?  (Circle number)
VERY LOW = 1 2 3 4 5 6 7 8 9  (I0>x ASHIGH ASTP

What is the expected crop quality with this pesticide compared to the target pesticide (TP) ? ,
VERY LOW =1 2 3 4 5 6 7 8 9 @ = ASHIGHAS TP I

What is the standard method of application for this pesticide? 'R/\N) Ve AT

What is the frequency of application?

Describe deficiencies or problems with this alternative: N o5~ '2{3’(\577:\@@’
EXPeNS | VE .
Identify your second ~choice as an alternative pesticide: AR Me R

What is the expected crop yield with this pesticide compared to the target pesticide (TP) ?
VERY LOW = 1 2 3 4 5 6 7 @E) 9 10 = ASHIGHASTP

What is the expected crop quality with this pesticide compared to the target pesticide (TP) ?
VERY LOW = 1 2 3 4 5 6 7 @) 9 10 = ASHIGHASTP

What is the standard method of applica(ion for this APGSHCME? ‘DSL'EN CH UQ 'EUM l(frﬁ,oT
o bavnyd/ ’

What is the frequency of application? Ay
Describe deficiencies or problems with this alternative: d\lﬁ* a’ Q’QGC‘/\\;{Q,

Section II. Non-Chemical Alternatives to the Replace the Loss of the Target Pesticide

Identify your first choice for a non-chemical alternative or alternative program for replacing this pesticide:

b e esickance vm\oab\‘\j; Die best

How would you describe this alternative ? (Circle number of answer.)
(1 BIOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, etc.)

2 PHYSICAL (such as flaming, mechanical incorporation, cultivation, flooding, canopy mgt. ctc.)

3 MANAGEMENT  (such as time or location of planting, cultivar, not to plant the crop, rotation, etc.)

4 REGULATORY (such as mandatory host-free periods, crop termination, sced indexing, etc.)

5 A COMBINATION OF SEVERAL OF THE ABOVE




==

What is the expected crop yield with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4° 5. . 6 7. 8 (9 > 10 = ASHIGHASTP

What is the expected crop quality with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4 5 6 7 8 10 = ASHIGHASTP

Estimate the cost of this allejrnativ% a per acre basis, or, identify the kind of costs that nced to be estimated
to determine cost: _gqm Mate(sd More XN S\VE

Describe difficultics or constraints to the use of this alternative or alternative system that you feel need to be .
studied or researched to provide an effective alternative: Prablems “wil AD neMa Sgecies,

61“&,_ 54@%,}\1:1 & WS\‘bq‘ﬂnce'

Identify your second choice for an alternative or alternative program for replacing this pesticide:

Buluynd Cohol

w would you describe this alternative ? (Circle number of answer.)
IOLOGICAL (such as biological control, a biopesticide, host/plant resistance, bacteria, etc.)
2 PHYSICAL ~ (such as flaming, mechanical incorporation, cultivation, flooding, canopy magt., ctc.)
3 MANAGEMENT (such as time or location of planting, cultivar, not to plant the crop, rotation, ctc.) ‘
4 REGULATORY  (such as mandatory host-free periods, crop termination, sced indexing, ctc.)
5 A COMBINATION OF SEVERAL OF THE ABOVE

What is the expected crop yield with this alternative compared to the target pesticide (TP) ?
VERYLOW = 1 2 3 4 5 6 (@O 8 9 10 = ASHIGHASTP

What is the expected crop quality with this alternative compared to the target pesticide (TP) ?
VERYLOW =1 2 3 4 5 6 () 8 9 10 = ASHIGHASTP

Estimate the cost of this alternative on a per acre basis, or, identify the kind of costs that need to be estimated
to determine cost:

Is alternative proposed available now? Yes @ (Circle answer)

Describe difficulties or constraints to the use of this alternative or alternative system that you feel need to be
overcome to provide an effective alternative: NEED Ty owDEZIAR St ‘{_CDLDkx\// Reduired

Cesefte?

Section III. Research, Development and Implementation Activities

Describe what research, develppmént or implémentation activitics you have underway that might provide an
alternative to the pest problem and indicate the time frame that you would predict the alternative might be
available as a practical treatment or control program: (Use additional shect if nceded)




